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5@7{5‘”? CLASS TEST o7

Year 11 Geometry Test. Name:
Friday, 23" March, 2007.

Time Allowed: I period.

Answer all questions on your writing paper.

!

Total Marks 55

Question 1 (8 marks)
Answer the following with a clear and concise sentence.
Hlustrate with as diagram. '

a) What are concurrent lines?

b) What are collinear points?

¢) What are adjacent angles?

d) What are alternate angles?
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Question 2 (13 marks) ,

Find the value of the pronumeral in each of the following diagrams.
Give all reasons.

Copy diagrams for 2¢, d, e.

b)
108°
| 2,2
4bH° 5b°
c)
CO
80 3,3
50° \
T ¥
B C D
AB=BC =CA=CD
e) X
3
U,
Question 3 (9 marks) A

a) Inthe diagram AD=4cm, AC=5cm,
BC=6cm, &/ADC= 90°

1) Copy the diagram and mark the

information on it. :

ii) Find the area of AABC. R & c > D




b) As shown in the figure (which is not to scale), B and E lie on
the sides AC, DA respectively of AACD. Use the information
shown on the figure to find the value of x and hence give

C  ZACD in degrees. Give reasons for your answer.

3x° 100°
D E
¢) For a parallelogram
i) State the definition of a parallelogram.
ii) State three properties of a parallelogram.

Question 4 (10 marks)
a) Inthe diagram ABCDE is a regular pentagon and AB and DC
produced meet at X
i) Copy the diagram onto your answer sheet and find the
size of /ABC.
ii) Find the size of / BCX giving reasons..

o C X

A/ ABCD is a quadrilateral.

/ The diagonals AC and BD intersect at P.
AD=BCand AC=BD.
i) Copy the diagram and mark the information on it..
11) Show that triangles ABC and BAD are congruent.
iii)  Show that triangle ABP is isosceles.
iv) Hence show that triangle CDP is isosceles.
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Question 5 (15 marks)
a) ABCD is a parallelogram. AD = 12 cm, CE=4 cm
and BF =7 cm.
1) Copy the diagram and mark the information.
ii) Show that AABF is similar to AECF.
ii1) Find the length of AB.

A

D C E

b) Given AB//CD,CD //EF,AC=2m,CE=3m & DF=4m.
1) Draw a diagram and mark all the given information.
if) Find BF giving reasons.

(£)] ABC is a triangle, right angled at A, and AD is drawn
¥~ perpendicular to BC.
AB=15cmand AD =12 cm.
1) On your answer sheet, draw a neat sketch and mark all the
given information.
11) Calculate the length of BD.
i1i) Prove ABC is similar to DBA. 5
1v) Find the length of AC.
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